LINGUIST 313 LFG
Tutorials
(2017 edition)

TUTORIAL 1
1. Overview: Key Concepts

a) Which of the following is unacceptable in LFG and why?
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2. Lexical Features 
a)
All words with semantic content  have a PRED feature; function words do not. Propose lexical (feature) structures for the words in the following sentences


i. 
John likes chocolate.

ii.
We watched the same movie. 

3. C-structure and F-structure 
a)
Try to explain the difference between c-structure and f-structure and give a simple example of each.

b) 
Propose an f-structure for 


Mary had a little lamb


Resistance is futile!

c) 
What f-structure would the (partial) tree below create?
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TUTORIAL 2: Lexical Features 1 
1. Nouns 
a) 
Consider how the form of the possessive pronoun (son/sa/ses) varies in the French examples below, then explain how a speaker decides  whether to use son, sa, or ses.

i)
L’homme a  
vu    son  fils


The man  has
seen his   son


'The man saw his son'

ii)
L’homme  a vu 
sa 
fille



The man    has seen 
his 
daughter 


'The man saw his daughter'

iii)
L’homme a vu ses fils



The man saw  his sons

iv)
L’homme a vu ses filles



The man saw his daughters 

v)
La femme a vue son fils


The woman saw her son

b) The possessive pronoun must 'agree' with a particular noun in the same sentence. Suggest a lexical structure for each pronoun form AND for each of the noun forms with which they agree. 
2. Pronouns:
The interpretation of Pronouns depends on context; to indicate this, LFG assigns the value 'pro' to the PRED feature of all pronouns.

a)
Give plausible lexical structures for person and their that could account for the acceptability of the following (for some people) 

Each person had their own chair

b) 
Propose a lexical feature structure for one or more of these paradigms.  To simplify matters, you can treat a recurrent affix as a separate item with its own f-structure:

English:



Chinese:
I

me


wo  I/me

women

we/us

he / she  
him/her
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it
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Maori:

ia (him/her/it)

rāua   (those two) 

raatou (all of them)
koe (you sg) 

kōrua
(the two of you)
koutou (all of youse)
au (me)

tāua 
(us two, me & you) u tātou (all of us )/dual



māua
(me and him/her)
mātou  (them and me (not you))

TUTORIAL 3: Lexical Structures 2 & Complete Analysis
1. Grammatical Functions
What Grammatical functions can you identify in the sentence?
Write them under the relevant phrase (show Phrase boundaries with brackets).

This simple sentence could really challenge some students 

2. Lexical structures: Verbs 

Complete the lexical structures for the words in the sentence from 1. paying particular attention to the argument structure of the verb (i.e. the information in angled brackets).
this: 
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3. C-structure
Complete the c-structure for the sentence in 1.
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4.  f-structure
Complete the f-structure for the sentence in 1. 



PRED ‘challenge <SUBJ



MOOD



SUBJ  PRED ‘sentence’









PRED ‘students’



ADJ

TUTORIAL 4: Endocentric structures

1. 
Grimshaw suggests that Extended Projections consists of a lexical level (F0) and 2 functional levels (F1, F2), and that N, D and P are all nominal, N is lexical (F0), and the others are F1 and F2 respectively, while V, T and C are all verbal, V is lexical, and the others are F1 and F2 respectively. Given these assumptions propose c-structures for the following:


i)
The villagers were wondering if the weather will improve


ii) 
In that settlement by the river.

2.
There are two lexical categories that are not covered by the description above. What are they?  Can you think how you might fit them into the system?

3.
Based on the following sentences, what category (N or V) and F features (0,1,2)  would you propose for is, here, missing

i) 
John is in the next room.


ii) 
John is here

iii)
John is missing


iv)
John is a student


Does this pose any problems for Grimshaw's proposals?

4.
Mandarin has no articles, but it has demonstratives and numerals as well as classifiers that come between a demonstrative or numeral and a noun. Consider the following data from Mandarin. How would it fit into Grimshaw's system? (That is, how would you classify the numeral and the classifier, and why? 

i)
na 
ben 
shu 
hen hao



that  Class 
book 
very good


That's a good book


ii)
wo maile yi zhang zhuozi 


I bought  one Class table 



I bought a table. 

5. 
Propose and defend a c-structure for the following:


i)
From all these various points  
 
Tutorial 5 Constituency
1. 
Application of Constituency Tests


Consider these results from constituency tests. What constituent does each test identify? What possible constituents are ruled out?


She often goes to the movies


a. 
The movies, she often goes to


b
To the movies, she often goes 


c.
Goes to the movies often, does she?


d.
Often goes to the movies, does she?


e. 
*to the movies often, she goes


f . 
It's to the movies she often goes 


g.
What she often goes to is the movies

2. 
Constituency and Ditransitives


You want to explore the constituency within the verb phrase of double object constructions and prepositional constructions like those below. That is: do the OBJ and OBL form a constituent in a. and do the two OBJs form a constituent in b? Write out the constituency tests you would use to reach a conclusion, and state your conclusion based on those tests.  


a.
I pushed the hamburger through the letterbox

b.
I gave the dog a bath

3. C-structure and tensed verbs
LFG allows a range of different c-structures for sentences including all those below:

a. 

TP


b.
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V0
XP
(Where X may be any kind of Phrase
, or a subset we specify).

In a. the item under T does not form a constituent with XP; in b. V does not form a constituent with XP, and in c. V does form a constituent with XP.  Use constituency tests to see which option is best for the following: 

i)
LFG is hard 

ii)
LFG looks hard 

Tests for constituency:
This test is quite good
1. A single constituent can answer a question:
Q: 
What is quite good?

A:
'This test' 
'This test' is a single constituent;

Q:
How is this test?

A:
'quite good 

'quite good ' is a constituent

2. A single constituent can be replaced by a single word:

[It] is [simple]
 
 both [this test] and [quite good] are constituents 

3. Parts of a constituent stay together in the same order when we form a paraphrase

[quite good], this test is. What is quite good is [this test]; It is[this test] that is quite good
Test for sisterhood

Sisters can appear in any order equally, with no change in intonation or pausing, and no change in emphasis or stress. If the lexical verb has at most one sister, we expect some limits on word order variation:

a. [this test] [is ][quite good] 
b. * [Is] [quite good] [this test] 

c. [quite good] [this test] [is]

d. ?[Quite good] [is] [this test]

a. is fine;

b. is simply bad. 

c. is 'marked', i.e. only works, if you pause or use special intonation and implies certain meanings. 

d. sounds odd even if you pause;

This variation in acceptability is not expected if you simply change the order of three sisters, and no position has a special function. Note also that the better examples a. and c. are ones where the phrase [this test] immediately precedes the word 'is'; Either 'this test' and 'is' form a constituent (check this out), OR each occupies a position with a fixed function. Since b. is bad, 'is' does not form a constituent with 'this test'. If it does not form a constituent with 'quite good' either, 'is' must be the head of a 'phrase'. 
Tutorial 6:  Discourse Functions
1. 
The sentences in Tutorial 5 Q 1. make use of topicalisation:  instead of filling its usual GF slot, a constituent fills a DF slot annotated (DF=↓.  Lexical entries for the words in 1 a. are provided below. 



a. 
The movies, she often goes to


the [DEF+]


movies [PRED 'movie'; COUNT + NUM PL; PERS 3]


she [PRED 'Pro'; PERS 3, NUM SG; GEND FEM; DEF +]


often [ (ADJ) PRED = "often"; ASP = habitual]

goes [PRED 'go< SUBJ (OBLLoc )>' SUBJ PERS = 3; SUBJ NUM = SG; 
TENSE ≠ PAST]

to [PRED 'to <OBJgoal>']
Draw a c-structure for 1a. then an f-structure. What problem does the f-structure pose for well-formedness? 

2. Topic and Focus positions occur on the edge of a sentence. The Topic and Focus DF must be linked to a GF:  either an argument function designated by a predicate in the sentence, or an adjunct function. That GF may also be assigned to an overt constituent, or it may be unassigned and linked to the Topic or Focus in f-structure.

a. Identify the elements in the following sentences that might occupy a DF position.

i)  From next Friday, the weather will turn cold.

ii) Onto the back of the truck, they loaded the hay.
iii) JOHN, he says it will never work. (meaning: John says it will never work)
iv) The boy you saw me with was JOHN
b. Using the lexical structures below, draw a c-structure and f-structure for ii) above
Onto: PRED 'onto <OBJ>' 
they: PRED 'pro'; NUM PL; PERS 3
 the: DEF = +

loaded: PRED 'load <SUBJ, OBJ, OBLLOC>; TNS PAST
 back:  PRED = 'BACK (< OBL) >
truck: PRED 'truck'; NUM SG; PERS 3
of : PRED 'of <OBJ>' 

hay: PRED 'hay'; COUNT -; PERS 3
Tutorial 7 Adjuncts and Pro-Drop





1.  Lexical structures: Adjectives
a) 
In English the same form can function as an attributive or predicative adjective. Consider the following sentences, then propose lexical structures for good and better in each.  [(…) means the elements in (,,) are optional; (*   ) means the elements in the ( ) would make the sentence ungrammatical; *( ) means it is ungrammatical to omit the elements in the ( ).] 

i)
I think this book is good (*than that one)

ii) 
This is a good book

iii) 
I think this book is better (than that one).

b) How could we account for the following?  Which do you think is better a lexical solution, a syntactic solution, or something else?

i)
This is a better (*than that one) book 

ii)
This is a better book than that one.

2. Pro-drop
Moroccan Arabic (From Bresnan, 2001:333 P2.2)
In Moroccan Arabic, an intransitive verb carries a subject agreement marker, whether or not a Subject NP is present. Propose ONE lexical structure for the verb mša-t that appears in both (1) a. and b.
(1) 
a. 
Mša-t
nažat.


 
went-3.sg.Fem Najat



'Najat went'


b. 
Mša-t


 
went-3.sg.Fem



'She went'.

A transitive verb carries an object agreement marker only when there is no lexical object. 

Propose ONE lexical structure for the verb šra-t-u that accounts for the grammaticality of (2) a. and b. and the ungrammaticality of (2) c.

(2)
a. 
Šra-t 


lbent

lxʷebz


bought-3.sg.Fem
the.girl 
the.bread



'The girl bought the bread.'


b. 
Šra-t-u 


lbent



bought-3.sg.Fem.3.sg.Masc
the.girl



'The girl bought it.'


c. 
*Šra-t-u 


lbent 
lxʷebz


bought-3.sg.Fem.3.sg.Masc
the girl the.bread

Tutorial 8. Non-Configurational languages
Old Icelandic is said to have some discontinuous constituents, that is sentences where parts of one functional unit are separated by parts of another functional unit. For example and head and its complement may be separated by a modifier of some other word.
In the following examples

a) Identify anything you think is a discontinuous constituent;

b) propose an f-structure for each  discontinuous constituent.

c) propose a c-structure for as much of the sentence as required to show all parts of that discontinuous constituent and the parts that interrupt it. take care with the annotations on the c-structure.

d) propose lexical entries for the head and dependents of the discontinuous constituent. 
(1) a. barnit 
var  at  komit dauða.


child-the 
was to come  death


`The child was almost dead.'




(Heimskringla II, p. 267)

    b. 
`ok  munu vér frá    hverfa ánni.'


 and will    we from depart river-the


`And we shall depart from the river.'




(Laxdæla saga, p. 41)

    c. 
ok   hafi  þit   vel   ifir   slett          vanhyggiu mina.


and have you well over smoothed negligence mine


`And you have made up well for my negligence.'



(Gunnlaugs saga ormstungu, p. 8)

   d. 
var  mikit til aflat        þessar veizlu.


was much to provided this      feast


`Much had been provided for this feast.'





(Laxdæla saga, p. 93

Tutorial 9. Functional and Anaphoric control
1. Which sentences involve functional control, which involve anaphoric control and which involve raising?

Tests:

Functional control is a lexical property of certain matrix verbs. 


They can take a non-finite complement clause. (COMP)


The embedded clause has no overt Subject, 


The matrix Subject refers to a person or thing that plays a role in the matrix event and the embedded event. (↑FIN= -) => (↑SUBJ = ↑COMP SUBJ)

Anaphoric control is an optional property of non-finite verbs in certain positions


A non-finite clause occurs in a SUBJ or ADJ position, 


The embedded clause has no overt Subject


In some cases, an overt (pronominal) Subj could be used  (You might need to add a 'for' before it.


There is usually an antecedent, which must be outside the clause.


The antecedent f-commands the missing SUBJ in f-structure:


The [ ]  containing the antecedent contain a different f-structure that contains the empty SUBJ.

Raising is a lexical property of certain matrix verbs or adjectives. 


They can take a dummy Subject and a finite complement clause including a Subject (COMP)


They can take a meaningful Subject and a non-finite complement (XCOMP)


A non-finite XCOMP has no overt Subject, 


The matrix Subject refers to a person or thing that plays a role ONLY in the embedded event, not in the matrix event (↑SUBJ = ↑XCOMP SUBJ)

Which applies in the following? 

a. They decided to clone the dodo



b. I want to leave now.



c.  The velociraptor expects to survive


d. I promise to pay more attention in future


e. John was lucky to find the velociraptor’s dna


f. The velociraptor was easy to clone

2. Draw the f-structure for 1c.

Tutorial 10:  Simple sentences
 1. 
Draw a c-structure and f-structure for the following sentences.


i)
We talked about the best way to go


ii)
Those old shoes were thrown out

2.
Assuming the c-structures you created at 1) draw an f-structure for these ungrammatical sentences and explain why they are ungrammatical


i) *We talked the best way to go


ii)  *This old shoes was thrown out 

3.
Some speakers of NZ English consider i) and ii) to be grammatical but speakers of standard English accept only  ii) and iii) :


i) We already done that yesterday



ii) We have already done that yesterday.


iii) We already did that yesterday

See if you can write lexical entries for 'donei' 'done ii' and 'did' to explain the differences in usage. 

3 CLASS 1sg DE book COP old


three of my books are old

Tutorial 11: LMT
1. LMT accounts for GF linking to NPs on the basis of the roles they express and features of GFs and roles:

a. State the feature values for each argument GF

b. Complete the following by adding the relevant feature specification:


Patients and themes are  ________


Secondary patients and secondary themes are  ________


unless this leads to two arguments both having the feature ______

In that case the higher/ lower ranked one is assigned  [+o]

c. Using LMT account for the GF assignment in each of the following. Show the original features assigned to each role, say which argument is selected as Subject and what features are assigned to explain the remaining GF assignments. 

i.  
Batman sent Robin round the corner 

ii. 
Robin was sent round the corner by Batman
































































� =c indicates a 'constraint equation'; it does not add a feature to f-structure, it blocks the inclusion of a feature or value. This one says there must be no Tense in the f-structure of the sentence. Why is this feature necessary here?  How will it affect your analysis of the features of 'challenge'?
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